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Corrigé de I'exercice 1

Résoudre ’équation :

3z +1 —6x+10 —ox—1
T T 6 2
(Bx+1)x3 n (=6 + 10)x2 B (=5x —1)x6
4><3 6><2 2><6
9xr+3 - 122+ 20 —30x -6
Vv T

—3x+23=-30x—6
—3z+30x=-6-—23

27Tx = —29
—-29
YT o7
. ) —-29
La solution de cette équation est
Corrigé de I'exercice 2
Résoudre 'équation :
—-9r—-6 —zxz+4+1 2x-9
4 2 6
4><3 2><6 6><2
—27x — 18— (62 +6) 2z—18
y74 ]

—27x—1846x—6=2x—18
—2lx—24=2x—18
—2lx—2x=-18+24

—23x =6

-6 -6

YT T

La solution de cette équation est 55
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Corrigé de I'exercice 3

Résoudre ’équation :

2048 3z +2 —Tx+7
8 4 2
2248 (Bx+2)xa (T2 +T)x4
8 ; 4><2 B 2%4
20+8—(6z+4) —28x+28
e - F

20 +8 —6x—4=-282+28
—4r+4=-28x+28
—4x+280x =28 -4

Mg =24
u_
TT T

La solution de cette équation est 1.

Corrigé de I'exercice 4

Résoudre ’équation :

9xr +6 7x+6_3ﬂ:+8

4 3 6
4><3 3><4 6><2
2Tz +18 — (282 +24) 6+ 16
b4 ¥

27Tx 4+ 18 —28x — 24 =62 + 16
—rz—6=06x+16
—rz—6xz=1646
—Tx =22

—22 —22

r=———=—

7 7

— 22
La solution de cette équation est
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Corrigé de I'exercice 5

Résoudre ’équation :

8z—1 x+10 2z-9
6 9 2
Bz —1)x3 (z+10)x2 (22 —9)x9
6«3 B %2 B 2x9
2z —3—(22+20) 18z —81
18 T
24dr —3 —2x —20=18x — 81

222 —23 =182 — 81
222 —18x = —81 + 23

4x = —5H8

~ —958  —29
T 2

_ —29

La solution de cette équation est
Corrigé de I'exercice 6
Résoudre ’équation :
r—2 —bz—1 -z -9

s 3 4
(.%' — 2)><3 B (—5.%' — 1)><8 . (—.%' — 9)><6

8><3 3><8 4><6
3z —6—(—40x—-8) —6z—54

24 S

3z—6+40x+8=—6x —54
43x+2=—6x—54
43x +6x = —54 — 2
491 = —56

-5 -8

T = —

49

La solution de cette équation est -
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Corrigé de I'exercice 7

Résoudre ’équation :

9 — 3 6x—8_5ﬂ:+3

3 2 9
(9.%'—3)><6_ (6.%'—8)><9 . (51‘+3)><2

3><6 2)(9 9><2
5z —18 — (5dz —72) 10z +6

18 W

9dxr —18 —d4x+72=10x +6
54 =10z + 6
—10x =6 — 54
—10x = —48

48 24
r= —-= —

10 5}

La solution de cette équation est T

Corrigé de I'exercice 8

Résoudre ’équation :

6x + 10 —73:—10_53:—6

8 4 -3
(6x + 10)x3 (—7x—10)x6_ (5x —6)xs
8><3 4><6 3><8
18z + 30 — (—42z — 60) B 402 — 48
24 A

182 4+30+42x +60 =40z — 48
60z +90 =40z — 48
60x —40x = —48 — 90

20x = —138
—138 —69
€r = = —
20 10
. . — 69
La solution de cette équation est 0
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